§12.2 VVectors

%k Vector :
1L pr@m)pe:j LR 2 edi .

2. “f@EE: OP=<ab,c> P=(ab,c)

£ =|OP |=+/a% +b? +¢?.

“#c: a=<a,a,a,> b=<b,b, b, >

—a+b=<a +b,a, +b,,a,+b, >.
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Example 1 :
A 100-Ib weight hangs from two wires as shown below. Find the tension
force Ty and T, in both wires and their magnitudes.

100

Solution :

| T, | sin50°+| T, | sin32° = mg
| T, | cos50° = T, | cos32°

T, —— 100 ~ 85.641b
sin50° + tan 32°cos 50°
7, = 1TL1€0850% _ 64 o
c0s32°

| T, |= (T, |sin50°)j —(| T, | cos50°)i = —55.05i + 65.60 j
| T, |=(T,|sin32°)j+( T, | cos32°)i = 55.05i + 34.40 j
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